’ Valentine Logic Puzzle ’

Briana, Eric, Kate, and Peter each brought their teacher a different kind
of candy for Valentine’s Day: caramels, mints, peanut brittle, and toffee.
Use the clues to find out who brought which kind.

1. The person who brought caramels carried them in his backpack.

2. People who brought mints and toffee had the same number of
syllables in their name as their candy.

3. Peter told the person who brought toffee, “That looks yummy!”
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Use the grid, if you would like, to eliminate possibilities. Put an "x" in a box
if you know a name doesn't go with a candy. Put an "o0" if you know it does.
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Solution to Valentine Logic Puzzle
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Briana brought peanut brittle.

Eric brought toffee

Kate brought mints.

Peter brought caramels.



